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() DOFOBORNEHERDILL,
M ( 6,5 )= an( 3,812 )=

@ ( 5,10 )= a2 ( 2,5,7 )=
@ 38 )= »( 359 )=
@ ( 818 )= (s ( 4,58 )=
®( 2,7 )= asy ( 4,8,10 )=
© ( 6,12 )= (1) (10,15,20) =
m( 8l6 )= an ( 6,10,15 )=
® ( 4,12 )= asy ( 2,4,6 )=
@ ( 10,12 )= a9 ( 6,8,12 )=

1o (12,18 )= 20 ( 2,3,5 )=
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() DHROBOTNAEEERDELL,
M ( 6,15 )=>30 un( 3,8,12 )= 24

2 ( 5,10 )=10 a2 ( 2,57 )=170
3 ( 3,8 )=24 3 ( 3,59 )=45
@ ( 818 )Y=72 s ( 4,58 )=40
& ( 2,7 )=14 s ( 48,10 )= 40
e ( 6,12 )=>12 e (10,15,20)= 60
n ( 816 )=16 un(6,10,15 )= 30
@ ( 4,12 )=>12 sy ( 2,4,6 )= 12
@ ( 10,12 )=60 9 ( 6,8,12 )= 24

(1o (12,18 )=>36 o ( 2,3,5 )= 30
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